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	Information for Candidate:

1. This examination paper contains ( 4  ) questions totaling ( 60  ) marks.

2. The marks for parts of questions are shown in round brackets.

	Advices to Candidate:

	3. Answer questions in order.
	2. Write your answers clearly.
	1. Answer all questions.


Question 1: Whate is the output of the following programs: 

B: ( marks: 5)

C: ( Marks : 11)


Question 4: Find the errors in each of the following programs and explain each error: ( Note: only write the line number and explain the error in that line)

A) (Marks : 5)


B) (Marks : 5)

C) (Marks : 5)


D) (Marks : 5)

Question 5: ( Marks: 10)
Declare a class and name it Triple. Triple has three private data members (floats) x, y, and z. 
//Triple has public functions for setting and getting values of all the private data //members. 
Define a constructor that initializes the values to 0. Also overload the following operators:

—Addition that  adds the corresponding elements together

—Assignment that copies x to z, y to x, and z to y.

—Post-increment  that increases x and z by one each.

—A function that reset the values for x, y and z. The new values for x, y and z must be            

     passed to the function through call by value.  
Question 6: (10 marks)
Suppose we would like to manipulate points in a 2D space. It is natural for us to define a class for this purpose.  Let's call this class twoD. The following is the definition for this class:

class twoD

{

   protected:

   
double x, y; // x and y  coordinates
      double distance;

   public: 


twoD(){x = y = 0.0;} 


twoD(double i, double j){x=i; y=j;} 


void setX(double NewX){x = NewX;}


void setY(double NewY){y = NewY;}


double getX() {return x;}


double getY() {return y;}


void getDistance (twoD point)


{


//You must add your code here to compute the distance for Tow dimension ;


}
};

compute the distance between two points (x1, y1), (x2, y2), using the function getDistance by using the formula:


                                            Distance =          (x2-x1)2 + (y2-y1)2

Suppose we decide to implement a class, threeD, to compute the distance between two points in a 3D place. threeD is derived from towD as follows: 
class threeD:public twoD

{

   private:

        double z;

   public: 


threeD():twoD(){z = 0;}


threeD(double i, double j, double k):twoD(i,j){z = k;}


void setZ(double NewZ){z = NewZ;}


double getZ() {return z;}


int getDistance (threeD point)


{


//You must add your code here to compute the distance for Three dimension;


}

};

compute the distance between two points in 3D space using the function getDistance in threeD . The distance between two points (x1,y1,z1), (x2,y2,z2) in 3D is equal to:

                                          Distance =           (x2-x1)2 + (y2-y1)2 +(z2-z1)2

GOOOOOOOOOOOD   LUUUUUUUUCCCCCKKKKKK

#include <iostream.h> 


class A 


{


protected:


int x=5, z =10;	


public:


A() 


{ y = 10; return y; }


void display() 


{ cout << “\n “  << x << z;}


private:


int y;


};





void display(A  *ob)


{ ob->display(); }





main()


{A  cc,


cc.y =  10;


display(cc);


};








~derived2 ()


	{


	cout<<"derived2 destruster\n";


	}


};





class derived3: public derived1,public derived2


{


public : int sum;


 derived3 (int x,int y,int z): derived1(x,y)


{


	 sum = 0;


	 k=z;


	cout<<"derived3 constructor\n";


}	


 ~derived3 ()


{


	cout<<"derived3 destruster\n";


}


};





int main ( )


{


	derived3 ob(10,20,30);





	ob.sum=ob.i+ob.j+ob.k;





	cout<<ob.i<<" "<<ob.j<<endl;


	cout<<ob.k<<"  "<<ob.sum<<endl;


	cout<<ob.base::i<<endl;





	return 0;


}





 #include<iostream.h>


class base


{


public: int i;


base ()


	{ 


	cout<<"base constructor\n";


	i=0; 


	}


	~base ()


	{


	cout<<"base destruster\n";


	}


};


class derived1: virtual public base


{


public: int j;


	derived1(int x,int y)


	{


	cout<<"derived1 constructor\n";


	j=y;


	i=x;


	}


	~derived1 ()


	{


	cout<<"derived1 destruster\n";


	}


};


class derived2: virtual public base


{


public: int k;


	derived2 ()


	{


	cout<<"derived2 constructor\n";


	k=0;


	}


		











class D: private B


{ public: 


        void display() {cout << j << z;};


 };


main()


{    B  a;


     cout << a.z;


     cout << a.f;


     D d;


     d.display();


}








#include <iostream.h>


#include <stdlib.h>


class A{


       int x;


A(){x = 5; f = 3;}


public: 


       int f;


};


class  c{


       int j;


public: 


        c(){j=10;}


};


class B: public A, public c{


public:	


        int z; B(){y = 7; z =10;}


};








class B{


        int z, l;


public:


        B(int a){z = a; l =a*2;}


        B  operator+(A a)


       {          B temp;


                   temp.z = z + a.x;


                   temp.l = l + a.y;


                  return temp;


        }


};


main()


{         A a; B b;


           a = a + a;


           b = b + b;


};








#include <iostream.h>


class A{


        int x, y; 


public:


      A() {x = 10; y = 20;}


      A operator+( A a) 


     {      A temp; 


            temp.x = x + a.x;


            temp.y = y + a.y;


     }


};








class D: public B, public c{


           int r;


public:


           D(int x, int y): c(x) 


              {              } 


           void display( ) 


              {cout << r;}


};


main()


{


          B bb(10.5);


          bb.B(10);


          bb.display();


          D d(5,10);


          d.display();


}








#include <iostream.h> 


class B{  


       int  x,y,z; 


public:


      ~B(){cout << "I am leaving 1";};


      ~B(){cout << "I am leaving 2";};


        B(int j) {x=y=z=j;}


        void display() 


              { cout << "\n x =" << x ;}


};





class c{


        int f,k;


public:


        c(int j) 


             {f=j; k =j+2;};


};








#include <iostream.h>


class atype{


int a[30];


public: 


  atype(){


    int ;


 for (i=0; i<30; i++) a[i] = i;


}





  int &operator[](int i) {


         return a[i];}


  int operator+(int i) {a[i]++; return a[i];};





int main()


{atype ob;





 cout << ob[2] << endl;


 ob[2] =10;





 cout << ob[2] << endl;





 cout << ob+2 << endl;





  return 0;


}
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